[= = M E‘ /\
THFHERiER (R01)
THEY4 | R7#tE SUEORBAARE - \F BT IE (2) FEXy ERIBE A
THERXS Bl
TFX gy « TRE - FER - FmB1 Hikg <X{va e (FimE) & (4mE) B R
Bl
= 1
R PR R T
= 1
I [ PR R fi
= 1
PR AT R i
e 5
FR AR &8 LR W (CEAS) L EDRREISEE 3
¥ (CCpE AT -
= 5
Bl - Bl AR T
= 1
Hh R R TR - AR TR
(EM-TE3. 5sq)
m 679
Hh AR B AR R : OB A R
(EM-CE5. 5sq—-2C)
m 679
Hh AR B R : OB A R
(VCT3. 5sq—3c)
m 20
7 VK 9 I ARR B T
= 1
7TVE I AR IE Hikk Crae A7) 1SUS WP, ~HiE (G
A1) 200X 200X 100
& 10
— 1 — %l:m%/a\




== A E‘ /\
THHERfEZR (K01)
THEY4 | R7#tE SUEORBAARE - \F BT IE (2) FERXS ERIBE A
THEXS5 KGR i
TEX 5y - THE - fER] - 5] Hik HAT e (FimE) e (AED) HrE R e
NFLEC g E S
= 1
AT H B (ST B R — b, B (
L AS]) t e RS L B
P 15
ECEEIER GRS RS HE CUTEAT)
' B 15
Bl RS AR S - L5y (BB AFR (CCFEAT) H2
(A7 F )
= 1
B - B AR T
= 1
AP R BRAE L AT ( IV, K CGLE A D)
:5.5sq
m 695
Hh AR R S FRFE G AA) OV, ik CLEAFT)
114sq-2C
m 229
AP R BRAE (LAY <OV, K CLE A D)
122sq—2C
m 466
B A S iE il - vy (B
(&EL<T)
= 1
% T
= 1
R T
= 1
—9 - IR




TH i ah & (A01)
THEY4 | R7#tE SUEORBAARE - \F BT IE (2) FERXS BB
THERS | BRI
TSy - TR - R - AR ks B Kk (i) Hh (4 ) R W
A B
AH 5
EETEE
- 1
JE AR
* 1
SRR (R b)
* 1
ST
- 1
B0 B A
* 1
T
* 1
g
- 1
T flit
* 1
T E B O 7 T 2 B4R
* 1
THEH
= 1
o IR




